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Quiz: Polynomial Addition

Question 1a of 14 ( 3 Finding the sum of two polynomials 91070 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 2

Is Case Sensitive: false

Correct Answer: 10x"8-x+13, 10x"8-1x+13, 10x"8-x"M1+13, 10xN8-1xMN1+13
Question: Find the sum and enter it in the box below. Enter your answer as a

polynomial in descending order, and use the caret () for exponents. For
example, you would write 4= as 4x/2.

(x8-x+7)+ (9x8 + 6)

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 10x8 - x + 13.

Question 1b of 14 ( 3 Finding the sum of two polynomials 283335 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 2

Is Case Sensitive: false

Correct Answer: 8XN6+x+14, 8XxN6+1x+14, 8XN6+Xx"N1+14, 8XN6+1XxN1+14
Question: Find the sum and enter it in the box below. Enter your answer as a

polynomial in descending order, and use the caret (©) for exponents. For
example, you would write 4+~ as 4x~2.

(x6 +x +9) + (7x® + 5)

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 8x% + x + 14.

Question 1c of 14 ( 3 Finding the sum of two polynomials 283336 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 2

Is Case Sensitive: false

Correct Answer: 11x7M9-x+15, 11x79-1x+15, 11x"N9-x~M1+15, 11x79-1xM1+15

Question: Find the sum and enter it in the box below. Enter your answer as a
polynomial in descending order, and use the caret (~) for exponents. For
example, you would write as 4x/N2.

(x° - x + 8) + (10x° + 7)
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Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 11x% - x + 15.

Question 2a of 14 ( 3 Finding the sum of two polynomials 91071 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 2

Is Case Sensitive: false

Correct Answer: AXN8-X+2, 4XN8-1Xx+2, 4XN8-XN1+2, 4xN8-1xN1+2

Question: Find the sum and enter it in the box below. Enter your answer as a

polynomial in descending order, and use the caret (©) for exponents. For
example, you would write <.+~ as 4x/2.

(x® -x) + (3x8 +2)

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 4x8 - x + 2.

Question 2b of 14 ( 3 Finding the sum of two polynomials 283337 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 2

Is Case Sensitive: false

Correct Answer: S5XxAN7+x+3, 5xN7+1x+3, 5XN7+xN1+3, 5XN7+1xM1+43

Question: Find the sum and enter it in the box below. Enter your answer as a

polynomial in descending order, and use the caret (©) for exponents. For
example, you would write as 4xN2.

(X7 4+ x) + (4x7 + 3)

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 5x7 + x + 3.
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Question 2c of 14 ( 3 Finding the sum of two polynomials 283338 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 2

Is Case Sensitive: false

Correct Answer: OXN6+X+4, IXN6+1X+4, OXN6+XN1+4, IXN6+1xN1+4

Question: Find the sum and enter it in the box below. Enter your answer as a

polynomial in descending order, and use the caret (©) for exponents. For
example, you would write 4.+ as 4x~2.

(X + x ) + (8x° + 4)

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 9x6 + x + 4.

Question 3a of 14 ( 3 Finding the sum of two polynomials 91072 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which polynomial represents the sum below?

(2x® +3x2 +9) + (3x2 + x + 8)

Choice Feedback
2x5 4+ 6x3 +
A. 17
B 5x8 + 3x2 + x
"+ 17

2x5 + 6x2 + x
+ 17

5x8 + 3x* + x
+ 17

Global Incorrect Feedback

The correct answer is: 2x% + 6x2 + x + 17.

Question 3b of 14 ( 3 Finding the sum of two polynomials 283339 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which polynomial represents the sum below?

(4x> +6x3 +3)+(3x3 +x+9)

Choice Feedback

4x> + 93 + x
+ 12

4x10 4+ ox6 +
10

12x5 + 5x5 +
2x + 12

4x> + 9x% + x
+ 12

*A.
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Global Incorrect Feedback

The correct answer is: 4x> + 9x3 + x + 12.

Question 3c of 14 ( 3 Finding the sum of two polynomials 283340 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which polynomial represents the sum below?

(xB+2x* + 1)+ (2x* +x2 + 1)

Choice Feedback
A. |16x8 +x2 +2
B 2x8 + 8x* +
" 2x2 4+ 2
C x16 4+ 16x8 +
T x2 42
x8 + 4x4 + x2
+ 2

Global Incorrect Feedback

The correct answer is: x8 + 4x% + x2 + 2.

Question 4a of 14 ( 3 Finding the sum of two polynomials 91073 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which polynomial represents the sum below?

(-x3+3x2 +3)+ (3x2 + x + 4)

Choice Feedback

-3+ 6x2 + x
+7

-3+ 9x% + x
+7

C. [2x6 +x+ 7
D. [2x5-x+7

Global Incorrect Feedback

The correct answer is: -x3 + 6x2 + x + 7.

Question 4b of 14 ( 3 Finding the sum of two polynomials 283341 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which polynomial represents the sum below?

(x*+4x3 + 1)+ (43 + x + 2)
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Choice Feedback

-x7 + 8x5 + x
A1y

x4 +8x3 + x
+3

x8 + 8x7 +x

C. + 3
D x4+ 4x8 + x
"+ 3

Global Incorrect Feedback

The correct answer is: -x* + 8x3 + x + 3.

Question 4c of 14 ( 3 Finding the sum of two polynomials 283342 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which polynomial represents the sum below?

(-2x3 + 4x2 + 6) + (2x%2 + 6x + 3)

Choice Feedback

-2x5 + 10x?2 +
6x + 9

-x® + 6x2 +
12x + 9

-2x3 + 6x2 +
6x + 9

D. [-2x3 +6x+9

Global Incorrect Feedback

The correct answer is: -2x3 + 6x2 + 6x + 9.

Question 5a of 14 ( 3 Finding the sum of two polynomials 91074 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which polynomial represents the sum below?
Choice Feedback
xp 5% + 27 +
13x+ 4
B 5x% + 7x7 +
" I13x+4

C. |7xX° +13x+4

7x16 + 13x +
4

Global Incorrect Feedback

The correct answer is: 5x° + 2x7 4+ 13x + 4.
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Question 5b of 14 ( 3 Finding the sum of two polynomials 283343 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which polynomial represents the sum below?
ST
- i +h
Choice Feedback

A. [6x1% +4x + 3

3x8 + 10x7 +
13x+ 4

3x8 + 3x6 +
10x + 3

3x8 + x6 + 4x
+ 3

Global Incorrect Feedback

The correct answer is: 3x8 + 3x% 4+ 10x + 3.

Question 5c of 14 ( 3 Finding the sum of two polynomials 283344 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which polynomial represents the sum below?
TP T T

4 o N 1_¢ Yy
Choice Feedback
A, 18X +3x6 +
" l19x + 3

5x% + 3x6 +
19x + 3
C. [5x° + 19x + 4

5x15 + 19x +
3

Global Incorrect Feedback

The correct answer is: 5x° + 3x5 4+ 19x + 3.

Question 6a of 14 ( 3 Finding the sum of two polynomials 91075 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2

Question: Which polynomial represents the sum below?
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Choice

Feedback

3x3 + 8x2 +
2x + 12

11x5 + 9x +
12

11x5 + 6x +
15

3x3 + 8x2 +
9x + 12

Global Incorrect Feedback

The correct answer is: 3x3 + 8x2 + 9x + 12.

Question 6b of 14 ( 3 Finding the sum of two polynomials 283345 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

1

Multiple Choice

2

Which polynomial represents the sum below?

Choice

Feedback

A. [12x5 +3x+ 10

10x3 + 2x2 +
10

2x3 4+ 10x2 +
9x + 10

D 2x3 4 12x? +
" [9x + 10

Global Incorrect Feedback

The correct answer is: 2x3 + 10x2 + 9x + 10.

Question 6¢c of 14 ( 3 Finding the sum of two polynomials 283346 )

Maximum Attempts:
Question Type:
Maximum Score:

1

Multiple Choice
2
Which polynomial represents the sum below?

Question:
Choice Feedback
xp, |3 +9x +
3x+4
B. |[12x® + 9x + 4
c. |3x° +9x*+
"I3x+4

D. |3x* +9x+ 4

Global Incorrect Feedback

The correct answer is: 3x* + 9x2 + 3x + 4.
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Question 7a of 14 ( 1 Finding the sum of two polynomials 91076 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which polynomial represents the sum below?
h .'f ) . x
- ‘-1 .9 -3k - —
Choice Feedback
A 10x16 + 12x4 +
" l9x + 14
B 4x9 - 6x7 + 4x* -
" l7x + 14
4x% + 6x7 + 4x* +
7x + 14
D 10x16 + 12x> +
" l7x + 14

Global Incorrect Feedback

The correct answer is:
4x° + 6x7 + 4x* + 7x + 14.

Question 7b of 14 (1 Finding the sum of two polynomials 283347 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which polynomial represents the sum below?
R N
- Jntezna
Choice Feedback
A 6x14 - 2x4 + 6x +
" l10

2x8 + 4x5 + 2x5 +
2x + 10

C 6x14 + 6x5 + 2x +
" 110

D 2x8 + 4x5 + 7x5 +
" [2x + 10

Global Incorrect Feedback

The correct answer is:
2x8 + 4x5 4+ 2x° + 2x + 10.

Question 7c of 14 (1 Finding the sum of two polynomials 283348 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2

Question: Which polynomial represents the sum below?
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Choice

Feedback

12x18 4+ 14x4 + 8x
+ 16

5x10 - 7x8 + 5x> -
9x + 16

12x16 + 4x* + 7x
+ 16

5x10 4 7x8 4+ 5x5
+ 8x + 16

Global Incorrect Feedback

The correct answer is:
5x10 4+ 7x8 + 5x5 + 8x + 16.

Question 8a of 14 ( 3 Finding the sum of two polynomials 91077 )

Maximum Attempts:
Question Type:
Maximum Score:

1

Multiple Choice

2

Which polynomial represents the sum below?

Question:
SRR A b2
S L.
Choice Feedback
A, 18X +7x6 -9 +
" Ix-15
g, |8x'* +7x12 - 9x3
"l-x+10
8x7 + 7x® + 9x3 -
x + 15
p. |8x'* +7x% -9x3 -
" Ix+ 10

Global Incorrect Feedback

The correct answer is: 8x7 + 7x% + 9x3 - x + 15.

Question 8b of 14 ( 3 Finding the sum of two polynomials 283349 )

Maximum Attempts:
Question Type:
Maximum Score:

1

Multiple Choice

2

Which polynomial represents the sum below?

Question:
Choice Feedback
A 8x16 + 5x5 + 8x2
T l-x+ 14
B 8x8 + 5x7 + 8x? -
" x + 14
xc,|8x% + 5x° +8x? -
X+ 14
D 8x16 + 12x5 - 9x3
"l-x+ 10

Global Incorrect Feedback

The correct answer is: 8x8 + 5x° + 8x2 - x + 14.
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Question 8c of 14 ( 3 Finding the sum of two polynomials 283350 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which polynomial represents the sum below?
R A
+ A et

Choice Feedback
A 5x5 + 5x° - 8x2 +

X-2

5x5 + 5x° + 8x2 -
X+ 2

5x12 + 7x7 + 8x3

C. -x+2
p. |5x.% + 13x10 -
83 -x+2

Global Incorrect Feedback

The correct answer is: 5x% + 5x5 + 8x2 - x + 2.

Question 9a of 14 ( 3 Finding the sum of two polynomials 120233 )

Maximum Attempts: 1

Question Type: Text Fill In Blank
Maximum Score: 2

Is Case Sensitive: false

XN7+6XN6+3XN5-6X+2, IXA7+6XN6+3XN5-6X+2, XN7+6XN6+3XN5-6xM1+2,
IXA7+6XN6+3XN5-6xM1+2

Question: Find the sum and enter it in the box below. Enter your answer as a
polynomial in descending order, and use the caret (~) for exponents. For

example, you would write 447 as 4xN2.

Correct Answer:

(X7 +4x5 - x2 + 2) + (2x5 + 3x° + x? - 6x)

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: x7 + 6x5 + 3x5 - 6x + 2

Question 9b of 14 ( 3 Finding the sum of two polynomials 283351 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 2

Is Case Sensitive: false

Correct Answer: 2XANT7 +H4AXN6-2XN5-4X N 245x+4, 2XNT7+4XN6-2XN5-4XN2+5xN1+4

Question: Find the sum and enter it in the box below. Enter your answer as a
polynomial in descending order, and use the caret () for exponents. For
example, you would write as 4xN2.

(2x7 + 5x% - 3x2 + 4) + (-x8 - 2x° - 1x? + 5x)
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Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
2x7 + 4x5 - 2x° - 4x? + 5x + 4.

Question 9c¢ of 14 ( 3 Finding the sum of two polynomials 283352 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1
Text Fill In Blank
2

false
3XAT74+3XN6-XN5-3XxM24+8x+4, 3XNT7+3XN6-XN5-3XN2+8XxN1+4, 3XN7+3XN6-
1XxN5-3xM2+48x+4

Find the sum and enter it in the box below. Enter your answer as a
polynomial in descending order, and use the caret () for exponents. For

example, you would write ¢ ¥ as 4xN2.

(3x7 + 6x8 - 2x%2 + 4) + (-3x% - x> - x2 + 8x)

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
3x7 + 3x5 - x5 - 3x2 + 8x + 4.

Question 10a of 14 ( 3 Finding the sum of two polynomials 120234 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:
Correct Answer:
Question:

1

Text Fill In Blank

2

false

5XxN4+xN3-1, 5xN4+1x73-1

Find the sum and enter it in the box below. Enter your answer as a
polynomial in descending order, and use the caret (©) for exponents. For

example, you would write as 4xN2.

Ax*-x2-x)+(x* +x3+x2+x-1)

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 5x% + x3 - 1.




This version of Total HTML Converter is unregistered.

Question 10b of 14 ( 3 Finding the sum of two polynomials 283353 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 2

Is Case Sensitive: false

Correct Answer: TXNG42XN3-XN2-X+1, 7XN4+2XN3-1XN2-1x+1, 7XN4+2XN3-XN2-x"N1+1
Question: Find the sum and enter it in the box below. Enter your answer as a

polynomial in descending order, and use the caret (©) for exponents. For
example, you would write 4.+ as 4x~2.

(5x* -3x2 - 2x) + (2x* + 2x3 + 2x2 + x + 1)

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 7x* + 2x3 - x2 - x + 1.

Question 10c of 14 ( 3 Finding the sum of two polynomials 283354 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 2

Is Case Sensitive: false

Correct Answer: 8XN4+2xN3-2

Question: Find the sum and enter it in the box below. Enter your answer as a

polynomial in descending order, and use the caret () for exponents. For
example, you would write 4= as 4x/2.

(7x* - 2x2 - 3x) + (x* + 2x3 + 2x2 + 3x - 2)

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 8x% + 2x3 - 2.

Question 11a of 14 ( 3 Finding the sum of two polynomials 120235 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which polynomial represents the sum below?

(X% + 2x + 2) + (-2x® - 3x° - x? + 6X)
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Choice

Feedback

-2x6 - 3x> 4 8x
+ 2

-2x6 - 3x3 - 4x
+ 2

2x5 +3x° - x% +
4x - 2

=3x8 - 3x> + x2 -
4x

Global Incorrect Feedback

The correct answer is: -2x5 - 3x> + 8x + 2.

Question 11b of 14 ( 3 Finding the sum of two polynomials 283355 )

Maximum Attempts:
Question Type:

Maximum Score:

1

Multiple Choice

2

Which polynomial represents the sum below?

(4x% + 3x + 4) + (-3x5 - 4x> - 2x2 + 5x)

Question:
Choice Feedback
A |- 22X+
" |8x+ 4
B 3x6 - 4x5 + 2x2 +
" |I8x+ 4
c. |3X° + 4 -2x -
" 18x+ 4

=3x8 - 4x> + 2x?
+8x + 4

Global Incorrect Feedback

The correct answer is:
=3x8 - 4x> + 2x2 + 8x + 4.

Question 11c of 14 ( 3 Finding the sum of two polynomials 283356 )

Maximum Attempts:
Question Type:
Maximum Score:

1

Multiple Choice

2

Which polynomial represents the sum below?

(8x2 + 5x + 3) + (-5x5 - 2x5 - 4x2 - 2x)

Question:
Choice Feedback
A -5x6 - 2x> + 4x2 -
" I8x + 2
xp,| 5% - 2X° +4x?
I+ 3x+ 3
C -5x% - 2x5 + 4x2 -
" I3x+3
D 4x5 - 2x° + 4x2 +
" 3x+3

Global Incorrect Feedback

The correct answer is:
-5x6 - 2x5 + 4x2 + 3x + 3.
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Question 12a of 14 ( 3 Finding the sum of two polynomials 120237 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

1

Multiple Choice

2

Which polynomial represents the sum below?

(16x2 - 16) + (-12x2 - 12x + 12)

Choice

Feedback

A. [28x2 -28x - 12

4x2 -12x -4

C. [16x2 -28x - 16

16x3 - 12x2 +

D. 128x- 16

Global Incorrect Feedback

The correct answer is: 4x2 - 12x - 4.

Question 12b of 14 (3 Finding the sum of two polynomials 283357 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

1

Multiple Choice

2

Which polynomial represents the sum below?

(14x2 - 14) + (-10x2 - 10x + 10)

Choice

Feedback

A. [24x2 - 24x-10

14x3 + 4x2 +
10x - 4

4x2 - 10x - 4
D. [14x2 - 10x -4

Global Incorrect Feedback

The correct answer is: 4x2 - 10x - 4.

QUEStiOI‘I 12c of 14 ( 3 Finding the sum of two polynomials 283358 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

1

Multiple Choice

2

Which polynomial represents the sum below?

(18x2 - 18) + (-13x2 - 13x + 13)

Choice

Feedback

*A.[5x2 - 13x -5

B. [31x2-31x-5

18x3 - 13x2 +
31x - 18

D. |[18x2 - 31x - 18

Global Incorrect Feedback

The correct answer is: 5x2 - 13x - 5.
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Question 13a of 14 ( 3 Finding the sum of two polynomials 120239 )

Maximum Attempts: 1
Question Type: Text Fill In Blank
Maximum Score: 2
Is Case Sensitive: false
. SXA5-2XAN4-2XA3+XA248X-1, -1XAN5-2XN4-2X A3+ 1xN2+8%-1, -XN5-2xN4-
Correct Answer: IXABHXA248XA1-1, ~1XA5-2XA4-2XA3+1XA2+8xA1-1
Question: Find the sum and enter it in the box below. Enter your answer as a
polynomial in descending order, and use the caret (©) for exponents. For
example, you would write 4:* as 4x/2.
AT 4u
+ —._1*5—)%4"";*'—-’
Attempt| Incorrect Feedback
1st
Correct Feedback
Global Incorrect Feedback
The correct answer is:
-x5 - 2x* - 2x3 + x2 + 8x - 1.
Question 13b of 14 ( 3 Finding the sum of two polynomials 283359 )
Maximum Attempts: 1
Question Type: Text Fill In Blank
Maximum Score: 2
Is Case Sensitive: false
. S3XA5-2XANG-2XAN 3 XA 242X-1, -3XA5-2XAN4-2XA3+HXA 242X N1 -1, -3XAN5-2XN4-
Correct Answer: 2XA3+1XA242X-1, -3xA5-2XxA4-2x A3+ 1xA2+42x A 1-1
Question: Find the sum and enter it in the box below. Enter your answer as a
polynomial in descending order, and use the caret (©) for exponents. For
example, you would write 4.« as 4x"2.
XE —f.!‘-' - x:l -4y =1
O A e R eIV
Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:

-3x5 - 2x* - 2x3 + x2 + 2x - 1.




This version of Total HTML Converter is unregistered.

Question 13c of 14 ( 3 Finding the sum of two polynomials 283360 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 2

Is Case Sensitive: false

Correct Answer: =2XANE5-3XNAHAXANB+H2XAN24+12X+3, -2XA5-3XN4+4XNA 342X N 2+12xN 143
Question: Find the sum and enter it in the box below. Enter your answer as a

polynomial in descending order, and use the caret (©) for exponents. For
example, you would write 4.+ as 4x~2.

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
-2x5 - 3x* 4+ 4x3 + 2x2 + 12x + 3.

Question 14a of 14 ( 3 Finding the sum of two polynomials 120240 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 2

Is Case Sensitive: false

Correct Answer: 2—3?()5\’\15_;?82—8x+10, -3xN5-x"2-8x71410, -3x"5-1x"2-8x+10, -3x"5-1x"2-
Question: Find the sum and enter it in the box below. Enter your answer as a

polynomial in descending order, and use the caret (~) for exponents. For
example, you would write 4+ as 4xN2.

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: -3x° - x2 - 8x + 10.
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Question 14b of 14 ( 3 Finding the sum of two polynomials 283361 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 2

Is Case Sensitive: false

Correct Answer: -4xN5-3x72-10x+8, -4xN5-3x72-10x~1+8

Question: Find the sum and enter it in the box below. Enter your answer as a

polynomial in descending order, and use the caret (©) for exponents. For
example, you would write 4.+ as 4x~2.

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: -4x> - 3x2 - 10x + 8.

Question 14c of 14 ( 3 Finding the sum of two polynomials 283362 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 2

Is Case Sensitive: false

Correct Answer: -5XN5-3x"2-4x+7, -5XN5-3xN2-4xN1+7

Question: Find the sum and enter it in the box below. Enter your answer as a

polynomial in descending order, and use the caret (©) for exponents. For
example, you would write 4.-" as 4x2.

PR PR

7 -

T P

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: -5x° - 3x2 - 4x + 7.




